Daily Exercise Solution

Consumption data:

HH Year
A 2015
2016
B 2015
2016
C 2015
2016

M

4500
5100
2880
3600
1200
1800

P
12
18
12
18
12
18

By

12
15
12
15
12
15

Qx Qy
250 125
200 100
120 120
90 132
50 50
50 60

1. Which household is CD and what's their value of g?

Using the quick test:

_ POy
M

Trim table down to M, P, and Q,, for clarity:

HH Year
A 2015
2016
B 2015
2016
C 2015
2016

M

4500
5100
2880
3600
1200
1800

P
12
18
12
18

12
18

Applications Page 1

Qx
250

200
120
90
50
50

g
12*250/4500 = 0.6667

18*200/5100 = 0.7059
12*120/2880=0.5
18*90/3600=0.45
12*50/1200=0.5
18*50/1800=0.5

CD?

¥ no

X no

 yes



Household C has CD preferences with g = 0.5.

2. Equilibrium in 20177
M = $1920, P, = $16,P, = $20

gM 0.5 %1920

Qx P, 16
1—g)M 0.5%1920
Q, = d-9) — — 48
P, 20
Check:

$16*60 + $20*48 = $1,920

Diagram:
CQ Y intercept:
1 1920/20 = 96
qé X intercept:

1920/16 =120

98
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